Hl £ 0 & A & Al A
2N At2l=XI3t
mu YASE MEBOE NR(ASIEX/JIZESEE)
CHel: RO EMBEE LR
SH - B S9(3H) - NRAY - BES S SR HIDS2
A2 =Xt 77,988,103 74,332,919 3,655,184
= 40,680,271
J| 1,536,569
& 10,690,903
Al 25,080,360
MNASE MEOHN XIA(ASISX /I =MESHE) 8,816 7,592 1,224
S0 ZMHESE 8,816 7,592 1,224
MNI=XEH 2 8,816 7,592 1,224
202 O4H| 2,816 2,592 224
01 =LHB] 2,816 2,592 224
201 & 2,816 2,592 224
OAt2l=X d2FX
88,0003 x2H 83| x2& 2,816
203 RF&d| 6,000 5,000 1,000
03 AMEFRHRFAIY| 6,000 5,000 1,000
20 & 6,000 5,000 1,000
OAZI=X AME2IFX 5,000
OAt2l=X H2 =2l 1,000
ABISXI D18 ZH (AR =S XI/AlS 2Rt 61,680 51,260 10,420
& 1,590
Al 60,090
X< ASI=X D18t = 61,680 51,260 10,420
& 1,590
Al 60,090
MNIIEXAE 29 E53H0YS) 58,500 48,250 10,250
307 QIZ2tol ™ 58,500 48,250 10,250
03 RIZIHMHE2IHIEX 2,500 2,500 0
20i & 2,500 2,500 0
OW&HME s 2Y EX 2,500
04 OIZISHAAIE 2 X 56,000 45,750 10,250
201 & 56,000 45,750 10,250
OEHS =2l JIA 30,000
OAZ& JtRI| & O 6,000
oL8EsUS 20,000
AMNII=XAIE SALAH AoHEE XI& 3,180 3,010 170
& 1,590
Al 1,590
301 LdetE2NZ 3,180 3,010 170
& 1,590
Al 1,590
2 AL BEE 62 (FHLAS, KSLHA) 3,180 3,010 170
& 1,590

Al 1,590




M A=K

B AL =X 0|8 ZA(ABI=RI/AE =TI
@2l XY Atel=X I8 2= (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
S0 & 3,180 3,010 170
& 1,590
Al 1,590
OMIIEXAIE SAA AoE2E XI& 3,180
& 1,590
Al 1,590
Lol 22X SA(AZIEX/ 0l - HAH) 52,026,713 47,154,234 4,872,479
= 33,859,633
J| 383,013
& 3,351,792
Al 14,432,275
LoI=XIAMEIA KR 49,625,493 45,902,374 3,723,119
= 32,847,793
J| 383,013
= 3,092,084
Al 13,302,603
Lolaxie] & A ESKIEAIS 10,443,083 10,442,102 981
= 5,221,541
& 989,537
Al 4,232,005
307 QIZ2tol ™ 10,443,083 10,442,102 981
= 5,221,541
& 989,537
Al 4,232,005
11 AIISXAEEER 10,443,083 10,442,102 981
= 5,221,541
& 989,537
Al 4,232,005
S0 &t 10,443,083 10,442,102 981
= 5,221,541
= 989,537
Al 4,232,005
Ol XAt I 9,895,370
= 4,947,685
& 989,537
Al 3,958,148
O=gD|2 g2t elAt| 547,713
= 273,856
Al 273,857
(SAUHEH)100MAIHAE AL RI2N(21) 561,878 506,192 55,686
J| 280,939
Al 280,939
307 QIZ2tol ™ 561,878 506,192 55,686
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2N At2l=XI3t
B Lol =X SA(ASISK/ L0l - HA)
Cigl: Lol=XIAbIA A (crel:xg
S - BB BR(31) - NSAY - BES S SR b=
ZE2AY RES4 206,278 161,818 44,460
307 2I2t01A 206,278 161,818 44,460
11 AISISXIAIEE X 206,278 161,818 44,460
S0j &t 206,278 161,818 44,460
OZ=zAaY Ra=4 206,278
NAS THOH=Ol AAMIEAS 200,750 182,500 18,250
307 QIZ2t0| ™ 200,750 182,500 18,250
11 AISIEXIAIEE X 200,750 182,500 18,250
=0 A 200,750 182,500 18,250
OMAS THIHE QI AAHHE
5,500 * 100 365 200,750
d2Y 23 243 K 158,796 71,49 87,300
& 28,043
Al 130,753
201 L2 | 6,008 3,150 2,858
01 At 22yl 6,008 3,150 2,858
20 & 6,008 3,150 2,858
OoZzY 2% 243 6,008
oHZL SHAFHI|(E=2D] 5)+7¢ 1,680
odgzd L& HE uxl
350,000 & *5IH A 1,750
o=KL HEZ(3E X, 534m) 2,578
307 2IZt0|A 152,788 68,346 84,442
= 28,043
Al 124,745
11 AISIZ2XIAIE 2 X 152,788 68,346 84,442
& 28,043
Al 124,745
=0 A 152,788 68,346 84,442
= 28,043
Al 124,745
OZ2Y =3 Tz )8 22| 105,000
= 21,000
Al 84,000
Odz2g =3 T23 2e|(XHAl) 4,640
oAT LHUE XA 1,640
oI ZM(PST| 30) =4 3,000
Odzg &3 Tz ) 22| XHXIJ 35,213
& 7,043
Al 28,170
Od2e =3 T2 )3 2| KIS (XA 7,935
d2Y 29 K& 419,643 293,330 121,313
& 69,286
Al 350,357




M MSI=RID
Mz 0ol 22X SX(ASIEX/20 - HAH)
cel: LOI=XAHIA I (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% MinEs)
307 21z2to|™ 419,643 298,330 121,313
o= 69,286
Al 350,357
11 AISIEXAIREEX 419,643 298,330 121,313
== 69,286
Al 350,357
=0l & 419,643 298,330 121,313
== 69,286
Al 350,357
Ood=z4g 29| 346,433
& 69,286
Al 277,147
OZ=2E S2HdI(XHA) 73,210
THOFC ORI R AEIA SHXRA 135,116 126,520 8,596
307 212to|™ 135,116 126,520 8,59
10 AISISAIAIEHESIHIEX 128,076 119,684 8,392
S0 A 128,076 119,684 8,392
OMIIERIAIE 2 XK (0121d]) 123,092
o MIE &t 22,230
-Jl23 1,710,000« 12& 20,520
—EIEEYS 1,710,000&*1€ 1,710
SINEIE=INPN; 36,482
-Jl2= 2,729,330« 12& 32,752
-E|& gl = 2,729,3303*1H 2,730
-HE S| 500,000 *124%23| 1,000
oRZIIESAH 53,965
-Jl2= 2,044, 760 x2H x 122 49,075
-E|ANE = 2,044, 7603 x2H 4,090
-HESIH| 200,000& *2H *x23| 800
ANSEE82Y=2 10,415,000& *13] 10,415
OMIIC QAL 22X (2H]) 4,084
11 AISIEXAIEE X 7,040 6,836 204
S0 A 7,040 6,836 204
OMIH-QIAIE AFE XL (oI=XI4HIEH) 7,040
IQUEE SHAH(HER) 3,543,934 4,006,667 N462, 733
o= 1,085,057
Al 2,458,877
301 LBIEX = 3,543,934 4,006,667 N462,733
& 1,085,057
Al 2,458,877
02 MBI EEEAF2(FLHS, NSHE) 3,543,934 4,006,667 NAB2 733
== 1,085,057
Al 2,458,877




M MSI=RID
Mz 0ol 22X SX(ASIEX/20 - HAH)
Cigl: Lol=XIAbIA A (crel:xg
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
S0l A 3,543,934 4,006,667 N462,733
o= 1,085,057
Al 2,458,877
OANAEZ20 XIAHEES 2,076,614
& 1,038,307
Al 1,038,307
OMIIE2N XAMHSEES 1,373,820
S22 212324 X3 93,500
== 46,750
Al 46,750
A2 L2 XD|& AL HMA =& X 5,400 3,600 1,800
= 1,080
Al 4,320
307 212t0|™ 5,400 3,600 1,800
== 1,080
Al 4,320
11 AISISXIAIREX 5,400 3,600 1,800
< 1,080
Al 4,320
=0 A 5,400 3,600 1,800
< 1,080
Al 4,320
Ookol=2XJ|2 MM ==X &
150,000& 3= x 1200 & 5,400
== 1,080
Al 4,320
LOISEEX2 293 499,692 442 633 57,059
308 XXISHHSOIA 493,692 442 633 51,059
11 SO2SHUSEAERE AN 493,692 442 633 51,059
=20 A 493,692 442,633 51,059
(@)eiFals] 366,547
O2g9H| 47,591
OAFHI 69, 150
OAIE&HIKXIH] 10,404
405 KHAFSRISHI 6,000 0 6,000
01 AL = EF S| 6,000 0 6,000
S0 A 6,000 0 6,000
OATERH 2| 6,000
wolgxiel & X3 37,036 33,398 3,638
307 2120l 37,036 33,398 3,638
11 AISIEXIAIEEX 37,036 33,398 3,638
=0 A 37,036 33,398 3,638
OLUTIEIAIY 2 QIHH|I(1Y) 37,036




M MSI=RID
. Lol X SA(AIFEX/L00 - HAaH)
Cigl: Lol=XIAbIA A (crel:xg
S - BB BR(31) - NSAY - BES S SR b=
ALIHZ2E &X 29 292,813 288, 161 4,652
308 ArXISHMSO0IN 292,813 288,161 4,652
11 S| 2S00 CHsHE & X2 E ALY 292,813 288, 161 4,652
S0j &t 292,813 288,161 4,652
OelAt| 262,098
O2gH| 23,115
OAI&E&EHIS X 7,600
SHLOESSHC SSOHEAAEIA 2 209, 188 236,967 AN27,779
J| 102,074
& 20,415
Al 86,699
307 2IZ2t0|A 209,188 236,9%7 N2T, 779
J| 102,074
& 20,415
Al 86,699
10 AlRI=SXIAEBHE2IHIEX 209,188 236,9%7 N2T, 779
J| 102,074
& 20,415
Al 86,699
S0 &t 209, 188 236,967 AN2T,779
J| 102,074
= 20,415
Al 86,699
O=HLl SSHEOAAHIA AL 204,148
J| 102,074
& 20,415
Al 81,659
OS=HMotAIMHIA 22|ole =5 K|
2 (XHAN) 5,040
Lolg| Xg 289 241,311 193,301 48,010
301 detENZ 132,000 0 132,000
14 J|Et2 43 132,000 0 132,000
20 & 132,000 0 132,000
OXNESMACE &S| 132,000
o QI3 & 500,000 x 19+ 12& 6,000
od=zY 3H 100,000 105« 1200 & 126,000
307 2IZt0|A 109,311 163,301 53,990
03 QIZIHHEE2IHIE X 109,311 163,301 253,990
204 & 109,311 163,301 53,990
OL0l3g] X3l Q1AHl BX(2Y) 84,363
O ANRIE(AIRE, 23 1188) 39,675
-Jl=22 2,774,303 =128 33,293
-HEIOHI 2,774,390& x60%*23] 3,330




M MSI=RID
Mz 0ol 22X SX(ASIEX/20 - HAH)
Cigl: Lol=XIAbIA A (crel:xg
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
-E|IAAEZ 3,052
oELEI(AIRE, 42 1058) 36,911
23 2,581,050 128 30,973
-HESIH| 2,581,050 *60%*23| 3,098
R EEHE 2,840
SABIEEE AT 23 7,777
Okolg Xg 29l 82X 24,948
ColMsE &I X 9,760 1,200 8,560
301 YBE M= 6,160 1,200 4,960
11 HAMAHIXI R 2 6,160 1,200 4,960
=0 A 6,160 1,200 4,960
OHZXISE A2 oIS &R}
(0] 83,0003 x40H 3,520
OJIE 2E LoXM=U3 ZIHAF ¢od|
88,0002 *30H 2,640
307 2120l ™ 3,600 3,600
04 CIZISHAIAIH E X 3,600 3,600
S0 A 3,600 3,600
OMIZ22 st=203 o] 2,220
OLJAS S EHH HOIE=SUE &I 1,380
Lolol Y D1E & A2 24l SHOE =X 14,240 5,750 8,490
307 QI2H0| & 14,240 0 14,240
04 CIZISHALAIE 2 & 14,240 0 14,240
=01 A 14,240 0 14,240
oL 24l e0td=H 201 X 14,240
A2 & W e 2 k3 H| 269,280 218,980 50,300
= 112,016
& 33,606
Al 123,658
301 LEIEN= 50,880 28,180 22,700
= 2,816
< 846
Al 47,218
01 ASIEEE LG 2(2DEXTL) 50,830 28,180 22,700
= 2,816
< 846
Al 47,218
=01 A 50,830 28,180 22,700
= 2,816
== 846
Al 47,218
Odz2g 2=l 5,632
= 2,816
o= 846




2A: M=K
Mz Lol 22X SX(AEIEX/ 0l - A )
o©Hlr L0

OI=XIAHIA XIS (cr9l: &g
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
Al 1,970
OZ=2E 2=2H[ (XAl 45,248
307 212t0|™ 218,400 190,800 27,600
= 109,200
& 32,760
Al 76,440
11 AISIEXAIEEX 218,400 190,800 27,600
= 109,200
& 32,760
Al 76,440
=01 A 218,400 190,800 27,600
= 109,200
== 32,760
Al 76,440
Od=zg dH e X 218,400
= 109,200
== 32,760
Al 76,440
LoIgtssEMUIA SAHA 2sE2X & 156,600 153,000 3,600
& 46,980
Al 109,620
307 2120l ™ 156,600 153,000 3,600
= 46,980
Al 109,620
11 AISIEXAIEEX 156,600 153,000 3,600
& 46,980
Al 109,620
S0 A 156,600 153,000 3,600
& 46,980
Al 109,620
OLQISSE=SAHIA SAIL ESEX
=Gt 156,600
& 46,980
Al 109,620
100MIAICH, H2 AL XIZIAF (ZHI) 2,400 2,400 0
== 1,200
Al 1,200
307 QI2H0| & 2,400 2,400 0
& 1,200
Al 1,200
03 OIZIHH B 2HHIE X 2,400 2,400 0
== 1,200
Al 1,200
S0 A 2,400 2,400 0




2N At2l=XI3t
B Lol =X SA(ASISK/ L0l - HA)
Cigl: Lol=XIAbIA A (crel:xg
SH - B S9(3H) - NRAY - BES S SR HIDS2
== 1,200
Al 1,200
OFAX2HEH &=l XI&
200,000& = 12& 2,400
& 1,200
Al 1,200
LOIEESMUIAAMY 2 2,127,547 1,718,706 408,841
= 1,479,874
& 126,849
Al 520,824
307 2IZ2t01A 2,127,547 1,718,706 408,841
= 1,479,874
== 126,849
Al 520,824
10 AISI=SXAEEE2IHIE R 1,986,407 1,596,498 389,909
= 1,381,076
= 118,380
Al 486,951
20 & 1,986,407 1,596,498 389,909
= 1,381,076
& 118,380
Al 486,951
OLolStE== MEIAAIY QIZ4H| 1,972,%67
= 1,381,076
& 118,380
Al 473,511
OLQIAESEAEIA SALA HRIMA
BI (KAL) 140,0002 x8H x 12& 13,440
11 Al SXAEE X 141,140 122,208 18,932
= 98,798
= 8,469
Al 33,873
20 & 141,140 122,208 18,932
= 98,798
& 8,469
Al 33,873
OLolgtE=EAMEIAAIS At 141,140
= 98,798
& 8,469
Al 33,873
NAS 228 BHHAIZ IR Atg 30,000 30,000 0
201 Ler23d| 9,000 9,000 0
01 AtS2teltl 9,000 9,000 0
S0i & 9,000 9,000 0




S ARSI
Mz 0ol 22X SX(ASIEX/20 - HAH)
cel: LOI=XAHIA I (cr9l: &g
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
OEE 24l BtAAIS I|1LI ALY
£=2H| 1,500,000& *6H = 9,000
206 =4I 21,000 21,000
01 MZ b 21,000 21,000
=0 A 21,000 21,000
OE3 HE} BHAAIZ JIRIIAIE ME
Feld] 3,500,000& *6H = 21,000
si=2s HMole 22018t 29 X 40,755 24,000 16,755
308 AHXISHHISO0IA 40,755 24,000 16,755
11 2|2 SHUSE AN AE AL HI 40,755 24,000 16,755
S0l A 40,755 24,000 16,755
Os30|2¢He 29 40,755
COIZXAIE SAHA SR 416,820 393,600 23,220
& 83,364
Al 333,456
307 2120l & 416,820 393,600 23,220
o= 83,364
Al 333,456
10 AISIZ2XAIEHESHHIEX 416,820 393,600 23,220
& 83,364
Al 333,456
S0 A 416,820 393,600 23,220
& 83,364
Al 333,456
OLO=XAIE SAHA SX= 416,820
o= 83,364
Al 333,456
EHEHAl HEE AHIIRAM 3,304 0 3,304
307 2I1z2t0|™ 3,304 0 3,304
04 CIZISHALAIE E X 3,304 0 3,304
=20 A 3,304 0 3,304
OEHEHAl Z2E2E AHIIRHM AFH] 3,304
LOISXIAIE D|Et &= 622,995 486,472 136,523
= 5,940
& 44,158
Al 572,897
dE2Y A &5 L JIsdst 564,000 243,000 321,000
== 40,000
Al 524,000
206 =8| 4,000 3,000 1,000
01 MZ Bl 4,000 3,000 1,000
S0 A 4,000 3,000 1,000
Oz H=2CE2E AQXHH 2! 4,000




A ARSI

B2 Lol =X SA(AS=X/ =0l - HAY)

chel: LoI=TIAIM Dlbt 25 (el me
S - B S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” D=2
401 Al&HILL0HY| 330,000 140,000 190,000
01 Al&HI 330,000 140,000 190,000
S0 A 330,000 140,000 190,000
OARY SAMNNHDIsEY) 150,000
Od2Y s@A(2|2ed) 150,000
OB MFSAF EHEY 30,000
405 KHAMSISHI 230,000 100,000 130,000
== 40,000
Al 190,000
01 A Z2EF SHI 230,000 100,000 130,000
& 40,000
Al 190,000
=0 A 230,000 100,000 130,000
< 40,000
Al 190,000
O&dz% 138 7Y 150,000
OZ=2Z2E 24 HOMZ HIS A& 80,000
& 40,000
Al 40,000
LOISAIAA JIs2E 31,830 243,472 A211,592
= 5,940
< 4,158
Al 21,782
401 Al&EHILL0HY| 20,000 20,000
01 AlEHI 20,000 20,000
S0 A 20,000 20,000
OEHEHAILIN 2 Y Z& HHISAH 20,000
402 IZHRF=0| M 11,880 32,112 N20,232
= 5,940
= 4,158
Al 1,782
02 BIZIXIEAIHE R (0I™THL) 11,880 32,112 N20,232
= 5,940
== 4,158
Al 1,782
=0l & 11,880 32,112 N20,232
= 5,940
& 4,158
Al 1,782
OLQIEI R |2 CCTV X 11,880
= 5,940
== 4,158
Al 1,782




2N At2l=XI3t
B Lol =X SA(ABISK/ L0l - HA)
o LoIsIIA4 DB &5 (Gt &
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
SOISXIAIE H3BAIES AEHEAL 7,115 0 7,115
401 AEHIL 0L 7,115 0 7,115
01 A&t 7,115 0 7,115
S0j &t 7,115 0 7,115
SOISXIAIE BN A 7,115
EHBHAI =12 X2 =S AIE HUIAIK(EH=EH) 20,000 0 20,000
401 AIEHIL 20| 20,000 0 20,000
01 A&t 20,000 0 20,000
=0 A 20,000 0 20,000
OLo=X2 == Ald FUISAF A=
o 20,000
A8 BE2s =4 1,778,225 765,388 1,012,837
= 1,005,900
& 215,550
Al 556,775
SEEE 22 29 341,225 765,388 A424,163
101 l24d| 64,715 61,778 2,937
M IR 22 sE 64,715 61,778 2,937
=0i & 64,715 61,778 2,937
O23EE Hx=&Y s Bgae 22X
25 64,715
oJll2g 76,9603 6 x 110 50,794
oFgY 76,9603 «6H »232! 10,621
o 2HAH| 5,000 x6H 110 3,300
201 Ler23d| 196,410 168,410 28,000
01 AtS2teltl 76,998 51,998 25,000
S0/ & 76,998 51,998 25,000
OZ23EE 22 AMREE & HIE7Y
150,000 =123 1,800
ON&EH| Xt 600,000& *43] 2,400
O=Ed & SEE F)| AUz
49,900& x2CH 12 1,198
OSJT& &Ietdae| =2
800,000& x12& 9,600
OHHSARA eHel&e] =2
750,000& *12& 9,000
OSHEE IIHEAIZ2E] =2
5,500,000& *43] 22,000
OSB3 & & SR 2271 1)
=H| 150,000 *4H *23| 1,200
O==8 NHEX B Y 25,000
OBot&g v 2% 4,800
o ROoIZHIAIAY 2
900,000& *4=D| 3,600
o R201ZH| CCTIV AIZ&
300,000& *4=2| 1,200
02 323l 119,412 116,412 3,000




=N

Ar2l = X1 2t

HE: Lol =X SH(MEISX/ 0l - HAY)
o AN HE=3 &4 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
20l & 119,412 116,412 3,000
O=3322 % HA 44,120
o NS XAl 50,0002 *13] 50
SIEEEP] Fakd=g= 35,0003 *22] 70
oZRIA Hot+ER=
250,000 «12& 3,000
oZARA - FIHE M)z
3,250,000& x12& 39,000
oZABA EFNHE
25&*80,0002| & 2,000
OS|T& AZItE =H2D| iz
11,0003 = 12& 132
OZ|TE MEIIE EFHeE
180,000 x12& 2,160
OdZy| 56,000
oZAIA L] 400,000 x5& 2,000
oY 28 7F 4,500,000& 123 54,000
OZ2EXE = KRAH|l S
250,000 =122 *1CH 3,000
OAM&EEH| s 14,000
ootEE A4 RAlZe
1,500,000& *4= | 6,000
oZAAIE AIE X122
2,000,000& *4=2| 8,000
202 04| 1,600 1,600
01 2] 1,600 1,600
=0i & 1,600 1,600
O=U0b] 1,600
oHAMER =X 20,0003 x80 1,600
206 M ZH| 16,500 16,500
01 =4l 16,500 16,500
S0 &t 16,500 16,500
oK 2 H A7 7L 7,000
SEn 20,000& »150m* 3,000
oz 10,000& 400 4,000
OZ23EE & o&E& 2el M7y 4,500
OZ3R3 2elg8 TIEACFY
10,0002 ¥500E 5,000
401 AIEHIL 20| 62,000 515,600 A453,600
01 A&t 62,000 515,600 453,600
204 & 62,000 515,600 A453,600
ORYAZ &I L & 84 30,000
Oostaz KAzl 2,500,000& *4=| 10,000
O33TE AN&E=Z B 22,000
oZotx e AHH((1021) 2,200,000&+107| 22,000
SHEE SE2:AL O & SSAY 1,437,000 0 1,437,000

1,005,900




M MSI=RID
M Lol 51X S (MISK/Lol - HAH)
el AN HREs L4 (e
. . rol 1 2 0 L -
S - B S2(B) - NISAY - BAS S cR HIDS2
= 215,550
Al 215,550
401 A& BIZLSCHYI 1,437,000 0 1,437,000
= 1,005,900
& 215,550
Al 215,550
01 A&t 1,437,000 0 1,437,000
= 1,005,900
& 215,550
Al 215,550
S04 & 1,437,000 0 1,437,000
= 1,005,900
& 215,550
Al 215,550
OstEa =2AI4 e & == 1,437,000
= 1,005,900
= 215,550
Al 215,550
04 2 B8 =X SE(AMESI/ES - IIE20Y) 12,779,693 15,266, 196 A2,486,503
= 3,549,372
| 836,833
& 3,695,550
Al 4,697,938
&= AblA 23t 327,291 458,822 131,531
| 77,390
& 118,957
Al 130,944
WL SEUS 5,520 3,944 1,576
201 Let2IY| 2,000 2,000 0
01 AtR22teltl 2,000 2,000 0
20l A 2,000 2,000 0
O4H=ZE 0, d8Zegl Us 2,000
202 04dl 3,520 1,944 1,576
01 =LHB] 3,520 1,94 1,576
201 & 3,520 1,944 1,576
OUA=X gRFX
88,0002 2 x 102! 3,520
H8Z=0|21Rt JtF K& 9,600 9,600 0
301 Let8EZ 9,600 9,600 0
02 AISIBEAH2(FLAHS, RIEHRE) 9,600 0 9,600
20l & 9,600 0 9,600
OZE0|2Xt JHE 2?2 9,600
RESHE #& 304 304 0




=N

X ZH -
o=

Ar2l = X 2t

08 o Bs =7

fon 0|>|

(AR =X/ 8= - OtF

=

o)

A

Ciell OIA=XI MHIA ¥ (el me
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
301 LBtE M= 304 304 0
02 MBI B Z2(FLHS, NEHE) 304 0 304
=0 A 304 0 304
ORESHAH 25 304
ogAll| 8,000 x2H 6 96
ol =H| 30,000 x2H 60
o= H| 74, 000& x2H 148
I ZEMEA 29X 141,280 135,036 6,244
J| 70,640
& 35,320
Al 35,320
307 212t0| ™ 141,280 135,036 6,244
J| 70,640
& 35,320
Al 35,320
10 AISISAIAEHESIHIEX 141,280 135,036 6,244
J| 70,640
& 35,320
Al 35,320
S0 A 141,280 135,036 6,244
J| 70,640
== 35,320
Al 35,320
OJIEZH A A 2 141,280
J| 70,640
= 35,320
Al 35,320
A= OohAt 2lZH| A& 1,000 1,000 0
J| 700
== 150
Al 150
307 QI2H0| & 1,000 1,000 0
J| 700
== 150
Al 150
11 AISIEXIAISEEX 1,000 1,000 0
J| 700
< 150
Al 150
S0l A 1,000 1,000 0
J| 700
& 150
Al 150




D ARSI

D od 2 25 =X

foir o[y

=

S(MBIEX/EF - OHF

A

D HE=EX AEIA 2 e EA
SH - B S9(3H) - NRAY - BES S S =
OJtd == mlohi At 2l 28| 1,000
J| 700
& 150
Al 150
I == JtolA Bd , XIg Z2 0 8,643 7,718 P25
J| 6,050
& 778
Al 1,815
307 QIZt0IA 8,643 7,718 P25
J| 6,050
= 778
Al 1,815
11 Al SRS E X 8,643 7,718 P25
J| 6,050
= 778
Al 1,815
20 & 8,643 7,718 P?5
J| 6,050
& 778
Al 1,815
OJE=E JtollAt W8, Xlg 2208 8,643
| 6,050
& 778
Al 1,815
HYEHASEANE2E X 17,764 16,820 A4
= 3,553
Al 14,211
307 QIZ2t0IA 17,764 16,820 A4
& 3,553
Al 14,211
10 Al =SXIAEBHE2IHIEX 17,764 16,820 A4
& 3,553
Al 14,211
204 & 17,764 16,820 A4
= 3,553
Al 14,211
ONAAASTALE 2SR 17,764
& 3,553
Al 14,211
JIEZSE TR IHE2I S K& 2,400 2,400 0
= 480
Al 1,920
307 QIZ2t0| A 2,400 2,400 0




=N

Ar2l = X 2t

A 04 2 B =X S (MIISK/ES - IIEL0Y
&2l H8=X MblA 23t (Gt &
S - BB BR(31) - NSAY - BES S SR b=
= 480
Al 1,920
11 AISIZ2XIAIEE X 2,400 2,400 0
& 480
Al 1,920
=0 A 2,400 2,400 0
== 480
Al 1,920
OJtE=Z=E1lol /210t 218X 2,400
= 480
Al 1,920
Hed2Ees XIS 121,900 272,000 150,100
& 76,900
Al 45,000
101 @I24H| 28,600 22,000 6,600
= 28,600
M JI2tH22sSE 28,600 22,000 6,600
& 28,600
=0 A 28,600 22,000 6,600
= 28,600
OZEHENS XYL JI2HH22 &
25 28,600
& 28,600
201 LEt23H| 3,300 10,000 26,700
= 3,300
01 At222teltl 3,300 10,000 26,700
& 3,300
S0/ & 3,300 10,000 26,700
= 3,300
OZgHEd 28, 28 S 3,300
& 3,300
301 detENZ 90,000 240,000 A 150,000
= 45,000
Al 45,000
14 J|EI2 &2 90,000 240,000 A 150,000
& 45,000
Al 45,000
=0 A 90,000 240,000 A 150,000
= 45,000
Al 45,000
OZgHEd 2Has S 90,000
& 45,000
Al 45,000
2G2S SAN2R=EKA 8,880 0 8,880




ol
i’
oF
ol

8,880

8,880

8,880

A1,240

A5,000

& T 0f AHY
(15 )

10,000
10,000
10,000
10,000

97,940

64,660

16,000
4,000
4,000

12,000
12,000

3,660
3,660
3,660

40,000
40,000
40,000

6,820
6,820

Ofl oK
(BHH)

1,776
7,104
8,880
1,776
7,104
8,830
1,776
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8,880
1,776
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8,880
1,776
7,104
10,000
10,000
10,000
10,000
10,000
96,700
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H
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H
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H
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H
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59,660
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H
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4,000
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=N

Ar2l = X 2t

AHM: o4 2 B 2X ST (AMEX/EK - 520
Chel: AAINE K LR
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
301 LBtE M= 605,812 553,670 52,142
J| 484,650
& 60,581
Al 60,581
01 MSIEEE LG Z2(2DEXTL) 605,812 553,670 52,142
J| 484,650
& 60,581
Al 60,581
=0 A 605,812 553,670 52,142
J| 484,650
& 60,581
Al 60,581
Ot 2IIEIE oS¢ £ X 605,812
J| 484,650
< 60,581
Al 60,581
HAHESIED OlsYFH S A& 11,193 8,200 2,993
J| 8,955
& 1,119
Al 1,119
301 YEBNZ 11,193 8,200 2,993
J| 8,955
== 1,119
Al 1,119
01 AIRIEEE LB (2DEXMH) 11,193 8,200 2,993
J| 8,955
== 1,119
Al 1,119
=20 A 11,193 8,200 2,993
J| 8,955
== 1,119
Al 1,119
OFAEEEDR Ols%=s & NEHAIE 11,193
J| 8,955
& 1,119
Al 1,119
MAS SIEER2IIE MEotd K& 64,600 62,400 2,200
== 12,920
Al 51,680
301 LBIEBX = 64,600 62,400 2,200
& 12,920
Al 51,680
02 MSIBEE LG 2(FISHE, XLHI) 64,600 0 64,600




2AM:

K| ZH -
(=R I

Ar2l = X 2t
04 & 28 =X

0 =

Ol

LA EX/ES - JIEY

Chel: AAINE K LR
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 12,920
Al 51,680
=20 A 64,600 0 64,600
< 12,920
Al 51,680
OXS&M stE X 2,800
& 560
Al 2,240
OHErAZH| 32,900
& 6,580
Al 26,320
OMNUEEAUM METIE S 28,900
= 5,780
Al 23,120
o0I=S AHIA X 514,366 313,400 200,966
= 360,056
o= 30,862
Al 123,448
307 QI2H0| & 514,366 313,400 200,966
= 360,056
< 30,862
Al 123,448
11 AISIEXIAIEEX 514,366 313,400 200,966
= 360,056
< 30,862
Al 123,448
S0 A 514,366 313,400 200,966
= 360,056
& 30,862
Al 123,448
Oolol=8 AHIA X 514,366
= 360,056
& 30,862
Al 123,448
CI23IIE S3HAIEY 179,918 175,132 4,786
J| 89,958
& 17,993
Al 71,967
307 212t0|™ 179,918 175,132 4,786
J| 89,958
& 17,993
Al 71,97
11 AISIEXAIEEX 179,918 175,132 4,786




2AM:

K| ZH -
(=R I

Ar2l = X 2t
04 & 28 =X

0 =

Ol

LA EX/ES - JIEY

el 220NN X LR
SH - B S9(3H) - NRAY - BES S SR HIDS2
J| 89,958
& 17,993
Al 71,97
S0 &t 179,918 175,132 4,786
J| 89,958
= 17,993
Al 71,967
Oottzshits ¢zu=s N 55,244
J| 27,622
& 5,525
Al 22,097
OZ=20|2X SHAMHIA XA 32,813
J| 16,406
& 3,282
Al 13,125
OUHZStERE ALY K& 39,344
J| 19,672
= 3,934
Al 15,738
OZ=0/20X Hzst XA 15,500
J| 7,750
& 1,550
Al 6,200
OCH23IItE At 22l XI& 37,017
J| 18,508
& 3,702
Al 14,807
EHSHAIDISHIE 2S K& 351,760 343,820 7,940
J| 175,880
& 35,176
Al 140,704
307 QIZ2t0| ™ 351,760 343,820 7,940
J| 175,880
& 35,176
Al 140,704
10 Al = XA EBEE2IHIE X 351,760 343,820 7,940
J| 175,880
& 35,176
Al 140,704
=0 A 351,760 343,820 7,940
| 175,830
& 35,176
Al 140,704




M A=K

M o8 L B] 21 SH(AEXN/ER - IIFSLHY)
el A2 N (2ol 2@
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
OEHEHAIDISAIE 29X 351,760
J| 175,880
& 35,176
Al 140,704
CI23sX| A28 29 820 400 420
201 LEL2AH| 820 400 420
01 AF22telt] 820 400 420
S0l A 820 400 420
OCIZSIETE N2ARS AfSg
70,000&x5H 23| 700
OUESIIIEXE XI2f|s S0t A
&S ,000& %23 120
CI230tE &AF XI& 8,700 8,864 N 164
< 800
Al 7,900
307 QI2H0| & 8,700 8,864 N 164
& 800
Al 7,900
11 AISIEXAIEEX 8,700 8,864 N 164
< 800
Al 7,900
S0 A 8,700 8,864 N 164
& 800
Al 7,900
OUI2SIIE 0S80t &AL 4,700
ONIAHICIO] Y SHA} 4,000
° 800
Al 3,200
CI23E IE FEA olsns X 19, 165 11,755 7,410
& 3,833
Al 15,332
307 2120l & 19, 165 11,755 7,410
== 3,833
Al 15,332
11 AISIEXIAISEEX 19,165 11,755 7,410
& 3,833
Al 15,332
=01 A 19, 165 11,755 7,410
= 3,833
Al 15,332
OUSSII=EH e2us NE 19, 165
< 3,833
Al 15,332
CIR23IIE U2 NKAISAF HLIHAH] XIS 3,684 3,684 0




M MSI=RID
AHM: o4 2 B 2X ST (AMEX/EK - 520
Chel: AAINE K LR
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
o= 737
Al 2,947
307 212to|™ 3,684 3,684 0
== 737
Al 2,947
10 AISISAIAIEEHE2IHIEX 3,684 3,684 0
o= 737
Al 2,947
S0 A 3,684 3,684 0
< 737
Al 2,947
OURstE ge2ns XTAF d2HH
"l XI& 3,684
o= 737
Al 2,947
ZS0|0X AHE X3 8,860 9,288 A428
307 21z2to|™ 8,860 9,288 N428
11 AISIEXAIEEX 8,860 9,288 A428
=20 A 8,860 9,288 N428
OZ=0|01X M= K& 8,860
20|81 D2 30,000 30,000 0
307 QI2H0| & 30,000 30,000 0
11 AISIEXAIEEX 30,000 30,000 0
S0 A 30,000 30,000 0
OZ&0|01X Deere X 30,000
JISHEAHE AFEH] 700,000 2,974,000 N2,274,000
403 XXISHHMS K201 700,000 2,974,000 AN2,274,000
02 27 |12SH S KH=EPEAIEYI 700,000 2,974,000 N2,274,000
=0 A 700,000 2,974,000 AN2,274,000
OJIFHIHAE A& 700,000
Z2E0|2IAF A HIEZ X3 A 2,151 2,400 AN249
< 430
Al 1,721
307 2I2to|™ 2,151 2,400 N249
& 430
Al 1,721
11 AISIEXAEEX 2,151 2,400 N249
< 430
Al 1,721
S0l A 2,151 2,400 249
o= 430
Al 1,721
OZE0|2X} Al HEZ AH 2,151




M MSI=RID
M o8 L B] 21 SH(AEXN/ER - IIFSLHY)
Chel: AAINE K LR
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
o= 430
Al 1,721
CI23tAHE &#0t= #ol=F=J| XI& 30,000 20,000 10,000
307 21z2to|™ 30,000 20,000 10,000
11 AISIEXAEEX 30,000 20,000 10,000
=0 A 30,000 20,000 10,000
OUSSAHE 0= & =D XN& 30,000
HAEED Ols2=H| K& 2,400 0 2,400
= 1,200
& 240
Al 960
301 LEBNZ 2,400 0 2,400
= 1,200
== 240
Al 60
01 AIRIEZEE AW S(2DEXMH) 2,400 0 2,400
= 1,200
== 240
Al 60
=0 A 2,400 0 2,400
= 1,200
== 240
Al 960
OFAEED Ots2=H| A& 2,400
= 1,200
& 240
Al %60
O0IEZ=20] HRIME X 10,800 0 10,800
== 2,160
Al 8,640
307 QI2H0| & 10,800 0 10,800
& 2,160
Al 8,640
10 AISIS XA EHAESIHIEX 10,800 0 10,800
< 2,160
Al 8,640
S0 A 10,800 0 10,800
o= 2,160
Al 8,640
Oolol=201 el X2 10,800
& 2,160
Al 8,640
B AHIA 2E 9,498,557 9,954,951 N456,394




=N

BH 018 U 2] =X ST(ANE=EL/2S - IELK)
ciel: ERAUIA 2sl (cr9l: &g
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
= 3,188,116
& 3,378,766
Al 2,931,675
NLESHHARS 29 1,890 1,260 630
201 LEr23H| 1,890 1,260 630
01 AtR22teltl 1,890 1,260 630
20i & 1,890 1,260 630
ONLESZ MR A
0,000& *9H *33] 1,890
SSAESAIAL nEXH 19,000 19,000 0
201 Ler23d| 1,000 1,000 0
01 AtR22teltl 1,000 1,000 0
20 & 1,000 1,000 0
OB SAIE SAR A3 2AeE
500,000 x2H 1,000
301 Ldet2HZ 18,000 18,000
11 HAAHIRIRE S 18,000 18,000
=0 A 18,000 18,000
OBSAIE SANA BUS 4,000
OB SAIE SAIA A3 & 12,000
OZ& Helold sorsStHal A &N 2,000
ERMUIA & =X 4,224 3,888 336
202 04| 4,224 3,888 336
01 2L 4,224 3,888 336
=0 A 4,224 3,888 336
OgRoteEs g2 =&
88,000 *3H 22 43| 2,112
Oots=X g2 =&
88,000 *3H 22 43| 2,112
ESAME HASES Ots K& 2,730 45,189 A42,459
o= 546
Al 2,184
307 QI2t0|™ 2,730 45,189 A42,459
= 546
Al 2,184
11 Al SXAEE X 2,730 45,189 A42,459
= 546
Al 2,184
204 & 2,730 45,189 A42,459
= 546
Al 2,184
OMASEE Ots Helold stEHIg Xl
& 2,730
& 546
Al 2,184




2AM:

X ZH -
o=

S ESAHIA 23 (Gt &
S - BB BR(31) - NSAY - BES S SR b=
Helold EZEEA XA 117,500 86,800 30,700
& 9,100
Al 108,400
307 2I2t0|A 117,500 86,800 30,700
= 9,100
Al 108,400
10 AISISXAEEE2IHIE X 117,500 86,800 30,700
& 9,100
Al 108,400
=0 A 117,500 86,800 30,700
== 9,100
Al 108,400
O0elold Hitey| XI&
600,000 *200H 2~ 12,000
= 2,400
Al 9,600
O&2X& Helold nMu-Hl XI& 13
A 13,700
& 2,740
Al 10,960
O3S0l HALR ey K&
550,000 *30 A+ 12& 19,800
& 3,960
Al 15,840
OgXelold 2g9H| XA
1,000,000 *6H A * 123 72,000
ERNAI HRJMA X (=Hl) 238,050 346,492 A108,442
& 19,560
Al 218,490
307 2I2t01A 238,050 346,492 A 108,442
& 19,560
Al 218,490
10 Al SXAEBE2IHIEX 238,050 346,492 A108,442
= 19,560
Al 218,490
S0/ & 238,050 346,492 A108,442
= 19,560
Al 218,490
OFLROIXNA HE0ld BESWAL H2M
als] 100,000 18 * 123 21,600
& 4,320
Al 17,280
O0{2I0|& BE|uAa HEH(228Y)
0 2 *x213H*23] 42,600
= 8,520
Al 34,080




2N At2l=XI3t
BH 018 U 2] =X ST(ANE=EL/2S - IELK)
£l PRI 23 (ol Hm
SH - B S9(3H) - NRAY - BES S SR HIDS2
Ogotet 1A SE+E
40,0002 70123 33,600
= 6,720
Al 26,880
ORIZH JFEHEI0IE FHAKR 18] XI&
500,000& x5 = 12& 30,000
Ol EguA 32128529 K& 77,040
ORIZH JIF0E0IE g&=EZ XA 33,210
oelold X3 53,200 59,000 A5,800
= 26,600
& 13,300
Al 13,300
307 2IZ2t0|A 53,200 59,000 25,800
= 26,600
= 13,300
Al 13,300
10 AISISXAEEE2IHIE X 53,200 59,000 25,800
= 26,600
= 13,300
Al 13,300
20 & 53,200 59,000 A5,800
= 26,600
& 13,300
Al 13,300
Ouuw 7l X (SINE_XNHSKA) 7,000
= 3,500
& 1,750
Al 1,750
Oxt&2dgdl X& 40,800
= 20,400
= 10,200
Al 10,200
OsHELM HelHeold K&
25,0002 x2JH A+ 12 5,400
= 2,700
& 1,350
Al 1,350
SsudA 21Ad| XH 3,023,827 3,162,278 A138,451
= 1,511,913
& 755,957
Al 755,957
307 QIZt0| A 3,023,827 3,162,278 A138,451
= 1,511,913
& 755,957




2N At2l=XI3t
A 04 2 B =X S (MIISK/ES - IIEL0Y
S ESAHIA 23 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 755,957
10 Al =S XA EBEE2IHIE X 3,023,827 3,162,278 A138,451
= 1,511,913
& 755,957
Al 755,957
=0 A 3,023,827 3,162,278 A138,451
== 1,511,913
& 755,957
Al 755,957
O=3ggol oelold elAdl XI& 2,565,939
= 1,282,969
= 641,485
Al 641,485
OOt E Helold oAyl K& 457,888
= 228,944
& 114,472
Al 114,472
Nyes=4 X2 122,537 366,474 A243,937
= 79,649
== 21,444
Al 21,444
301 Let8dZ 122,537 366,474 A243,937
= 79,649
& 21,444
Al 21,444
01 AISIEEMHS2(ZNEXTE) 122,537 366,474 A243,937
= 79,649
& 21,444
Al 21,444
S04 & 122,537 366,474 A243,937
= 79,649
& 21,444
Al 21,444
ONggsg N 122,537
= 79,649
= 21,444
Al 21,444
gde0tErE XA 1,781,800 2,184,160 A402,360
= 1,158,170
& 311,815
Al 311,815
307 QIZ2to| ™ 1,781,800 2,184,160 A402,360
== 1,158,170




2N At2l=XI3t
B Gy U DS =X ST (NS=N/ES - NSUIA
Ciel: PRAHIA 23 (crel:xg
SH - B S9(3H) - NRAY - BES S SR HIDS2
== 311,815
Al 311,815
10 AISISXAEEE2IHIE R 1,781,800 2,184,160 A402,360
= 1,158,170
= 311,815
Al 311,815
20 & 1,781,800 2,184,160 A402,360
= 1,158,170
& 311,815
Al 311,815
ogrot2sz A& 1,781,800
= 1,158,170
& 311,815
Al 311,815
S3EOSI0IE XA (HEAIR) 82,000 82,000 0
== 61,500
Al 20,500
307 QIZ2t0I A 82,000 82,000 0
& 61,500
Al 20,500
10 AlRI=SXIAEBHE2IHIEX 82,000 82,000 0
= 61,500
Al 20,500
204 & 82,000 82,000 0
= 61,500
Al 20,500
O33E0201d 294l X2 (L) 82,000
& 61,500
Al 20,500
ERUAY HRJMA X (=) 311,183 873,442 A562,259
= 155,591
& 77,796
Al 77,796
307 QIZ2t0| ™ 311,183 873,442 AB62,259
= 155,591
& 77,796
Al 77,79
10 Al = XA LB E2IHIE X 311,183 873,442 AB62,259
= 155,591
& 77,796
Al 77,79
=0 A 311,183 873,442 A562,259
== 155,591




2AM:

A 04 2 B =X S (MIISK/ES - IIEL0Y
S ESAHIA 23 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
== 77,79
Al 77,796
OYANA XA (HEES ML AL 28 193,015
= 96,507
& 48,254
Al 48,254
O=sEESUAI SEE22Y 118,168
= 59,084
& 29,542
Al 29,542
SFAIA HRME XN (BZAN, XL AL) 466,247 0 466,247
= 233,123
& 116,562
Al 116,562
307 QIZ2t0|™ 466,247 0 466,247
= 233,123
& 116,562
Al 116,562
10 Al = XA EEE2IHIE X 466,247 0 466,247
= 233,123
& 116,562
Al 116,562
S0j &t 466,247 0 466,247
= 233,123
= 116,562
Al 116,562
OBZXNAF XA 461,887
= 230,943
& 115,472
Al 115,472
O™ AL XA 4,360
= 2,180
& 1,090
Al 1,090
FelE BE=xg K& 2,315,983 2,475,595 A159,612
= 1,946,983
Al 369,000
307 QI2t0| A 2,315,983 2,475,595 A159,612
& 1,946,983
Al 369,000
10 Al = XA EEE2IHIE X 2,315,983 2,475,595 A 159,612
= 1,946,983
Al 369,000




2AM:

X ZH -
o=

o EsAMHIA st (e
S - B S2(B) - NISAY - BAS S SR HIDS2
20l & 2,315,983 2,475,595 A159,612
& 1,946,983
Al 369,000
O=2s 228 K& 1,946,983
& 1,946,983
Ot EgasHl N
50,0002 615 = 12& 369,000
22 ZLIHEH 29 N& 1,140 1,256 A116
== 570
& 285
Al 285
301 LetBEZ 1,140 1,256 A116
= 570
& 285
Al 285
11 SHAIRHIXI RS2 1,140 1,256 A116
= 570
& 285
Al 285
20i & 1,140 1,256 A116
= 570
== 285
Al 285
OR2 ZLIHEH 2Z X 1,140
= 570
& 285
Al 285
O2lold Z2taldl X2 388,800 166,200 222,600
307 QIZ2t0| A 388,800 166,200 222,600
10 Al = XA EEHE2FHIE X 388,800 166,200 222,600
201 & 388,800 166,200 222,600
O0elold =2+adl XI&
2,000 +810H x202 x 122 383,800
elols & A=H| R 41,024 16,296 24,728
307 QIZ2to| ™ 41,024 16,296 24,728
10 AIZISXAIEHE2GHIEX 41,024 16,296 24,728
20l & 41,024 16,296 24,728
Ol &tz A=H| K&
8,000 +1,282H 43| 41,024
AR ESAHIA X3 AFS 45,000 48,000 A3,000
= 22,500
& 6,750
Al 15,750
307 QIZt0| A 45,000 48,000 A3,000




2N At2l=XI3t
A 04 2 B =X S (MIISK/ES - IIEL0Y
S ESAHIA 23 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 22,500
& 6,750
Al 15,750
10 Al =S XA EEHE2IHIE X 45,000 48,000 A3,000
= 22,500
& 6,750
Al 15,750
S0j &t 45,000 48,000 A3,000
= 22,500
= 6,750
Al 15,750
OAIZHI BESABIA XI&AS 45,000
SAIZFHIESMEIA 45,000
= 22,500
& 6,750
Al 15,750
Oelold otESH SO X 4,772 4,421 351
& B4
Al 3,818
307 QIZ2t0| ™ 4,772 4,421 351
& 954
Al 3,818
10 AISISXIAEEE2IHIE X 4,772 4,421 351
& B4
Al 3,818
S0i & 4,772 4,421 351
= 954
Al 3,818
ONelolE etdBH Sty K& 4,772
& 94
Al 3,818
g2sg RE2REZ AH 32,712 0 32,712
& 9,814
Al 22,898
307 QIZ2t0| A 32,712 0 32,712
& 9,814
Al 22,898
11 Al =SXAEES 32,712 0 32,712
& 9,814
Al 22,898
S0/ & 32,712 0 32,712
= 9,814
Al 22,898




=N

X ZH -
o=

&2l EsMHIA 23St (e
A S S2(8) - ISA - BaS S SR HIDS2
OEsg 22242 I 32,712
& 9,814
Al 22,898
TF2A0201E SIEXJA (2|, 2124H]) 292,938 0 292,938
307 eIZ2tol ™ 292,938 0 292,938
10 AISISXAIEHE2ZGHIER 292,938 0 292,938
S0i & 292,938 0 292,938
o722 ogold 28XA 292,938
o Q14| 242,538
o3| 50,400
gl0ld ZHEXNSOts XI2Z2 08| K& 20,000 0 20,000
307 eIZ2tol ™ 20,000 0 20,000
11 Al SRS E X 20,000 0 20,000
S0i & 20,000 0 20,000
OdNEots XISZ2 3| X2 20,000
glold X018 X2l XA 132,000 0 132,000
& 26,400
Al 105,600
307 Q120 A 132,000 0 132,000
& 26,400
Al 105,600
10 At = XA EEE2IHIE L 132,000 0 132,000
& 26,400
Al 105,600
20l & 132,000 0 132,000
& 26,400
Al 105,600
Oooelold x5 AR XA
550,000 x20H = 12& 132,000
& 26,400
Al 105,600
S=AIE D8t 25 303,316 201,930 101,386
& 25,000
Al 278,316
glold 3 &l XI& 72,000 30,000 42,000
401 A& BIZL2CHYI 60,000 60,000
01 A&l 60,000 60,000
20/ & 60,000 60,000
OFZA0E0lE U2 BSAt 50,000
OO elolE 2HE JHI At 10,000
402 QIZ2HRH=01H 12,000 30,000 A18,000
01 QX EAIL B (XEAMITHS) 12,000 30,000 A 18,000
S0i & 12,000 30,000 18,000




M A=K
|

M o8 L B] 21 SH(AEXN/ER - IIFSLHY)
9 PRAIM J|8 2 (e @2
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
OBIZIIANRI0IE ATFSE SHAEH| ZAt
2 000 *x6IH A~ 12,000
HElold DIsE2d K& 50,000 120,000 270,000
& 25,000
Al 25,000
402 QIZHRFE0| A 50,000 30,000 20,000
& 25,000
Al 25,000
02 CI2EXIE AN E X (0| M RHS) 50,000 30,000 20,000
& 25,000
Al 25,000
=0 A 50,000 30,000 20,000
= 25,000
Al 25,000
OO0 2I0I& Mzl 2 (7100) 50,000
< 25,000
Al 25,000
280{210|1& Xl A 170,000 42,000 128,000
402 OIZHRFE0| A 170,000 42,000 128,000
01 BIZIXIEAIH B (RHMIIH) 170,000 42,000 128,000
S0 A 170,000 42,000 128,000
O3 02018 X22Hl X2 (20HA)
85,000, 000& *2H A~ 170,000
oelold XUl 29 11,316 9,930 1,386
201 LBt AY| 11,316 9,930 1,386
2 3524l 11,316 9,930 1,386
=20 A 11,316 9,930 1,386
ONelol& Xt&tIIA MI=
50,0002 x50 A% 128 3,000
OONelol& Xtek GPS AtE =
38,500 x 18 A+ 128 8,316
Ots=EXSE(ASI=ZX/FAHSKH) 10,330,319 9,077,255 1,253,064
= 2,974,262
J| 42,070
== 3,509,317
Al 3,804,670
Ols=2X AMblA 235t 7,043,502 6,088,208 955,294
= 2,067,730
J| 42,070
== 2,839,227
Al 2,094,475
OlIs9I3d3 89 1,730 1,730 0
201 LEt2AH| 1,730 1,730
01 AtR2teld| 1,730 1,730




M MBI=TID
H: OlsS=2XSE(AMSIEX/FHAHSIH)
ciel: OlE=X AblA 23t (cr9l: &g
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
=0 ot 1,730 1,730 0
OOLE=X Mogis S
70,000214724 18] 490
OOtESI2 (B213]) An+g
70,0002 x16E 13| 1,120
Of&a 319 =l &=+ M= 120
oelole JIE&A} 33,000 33,000 0
201 LBt A 3,000 3,000 0
01 AtR2teldl 3,000 3,000 0
=20 A 3,000 3,000 0
ONelole J18eAl 2B E 3,000
307 2I12to|™ 30,000 30,000 0
11 AISIEXAIEEX 30,000 30,000 0
=20 A 30,000 30,000 0
OQ0elole JIEeAr 30,000
I8 2E0ls A=A 234,000 234,000 0
301 LBIEBX = 234,000 234,000 0
02 AMSIEEE LG 2(FLAHE, XLHE) 234,000 234,000 0
S0 A 234,000 234,000 0
OJIIERIE0ls A=A
300,000 x65H = 12& 234,000
A AE0ts Melxls XA 2,200 2,200 0
J| 1,540
& 132
Al 528
301 YEBNZ 2,200 2,200 0
J| 1,540
== 132
Al 528
01 AIRRIBZEE LS (2DEXH) 2,200 2,200 0
J| 1,540
= 132
Al 528
S0 A 2,200 2,200 0
J| 1,540
& 132
Al 528
Oy 4 JIELEOIS Aelxlg K&
200,000 *x113|x1H 2,200
J| 1,540
& 132
Al 528
A0S Am-E 55,200 39,600 15,600
J| 38,640
& 3,312




2N At2l=XI3t
. OIS=EXNSE(AIZSX/FLHSIH)
&l OtES=X AdlA 28t (chel &2
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 13,248
301 LeEtEdZ 55,200 39,600 15,600
J| 38,640
= 3,312
Al 13,248
01 AISIEEMAG2(2DEXTE) 55,200 39,600 15,600
J| 38,640
== 3,312
Al 13,248
20 & 55,200 39,600 15,600
J| 38,640
& 3,312
Al 13,248
OULOLE YRAY X
200,000& x23H x 12 55,200
J| 38,640
= 3,312
Al 13,248
aadlE N2 2,700 2,700 0
J| 1,890
& 162
Al 648
301 Ldet2NZ 2,700 2,700 0
J| 1,890
= 162
Al 648
01 A EEA>GS(ZRDEZE) 2,700 2,700 0
J| 1,890
= 162
Al 648
20 & 2,700 2,700 0
J| 1,890
& 162
Al 648
ogddlg XA 2,700
J| 1,890
& 162
Al 648
230ts MEotd X2 79,360 84,880 25,520
= 15,872
Al 63,488
301 Let8dZ 79,360 84,880 5,520
& 15,872




2N At2l=XI3t
mu: OIS=ISA(ASI=X/FHAHEN )
Cigl: OIE=X AbIA 23} (el me
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 63,4388
02 AIBIBEXSH2(FHLAHS, RLHE) 79,360 84,830 A5,520
& 15,872
Al 63,488
20/ & 79,360 84,880 A5,520
& 15,872
Al 63,488
OXdE=3 10,000,000 *3H 30,000
& 6,000
Al 24,000
OsgE et 27,360
& 5,472
Al 21,888
OtHstdeotE g 250,0002 x11H+8& 22,000
& 4,400
Al 17,600
ESEZOISAE YR 124,800 93,600 31,200
= 99,840
& 4,992
Al 19,968
301 LetEEZ 124,800 93,600 31,200
= 99,840
& 4,992
Al 19,968
01 A BEAGS(2REZE) 124,800 93,600 31,200
= 99,840
& 4,992
Al 19,968
S0 &t 124,800 93,600 31,200
= 99,840
= 4,992
Al 19,968
OBs&E=0ts MY 124,800
= 99,840
& 4,992
Al 19,968
OrsS 2RI AHIEH(CDA) OHE X3 106,055 130,218 A24,163
= 74,239
= 6,363
Al 25,453
301 Let8dZ 106,055 130,218 224,163
= 74,239
& 6,363




SA: ASISTID
. OIS=EXNSE(AIZSX/FLHSIH)
ciel: OIS=X MHIA 23l (9l &2
SA - EHB . SRI(3) - NSAY - A S S Hl D=2
Al 25,453
01 AIBIBE X432 (222X TE) 106,055 130,218 A24,163
= 74,239
& 6,363
Al 25,453
=0 A 106,055 130,218 A24,163
== 74,239
& 6,363
Al 25,453
OO0t X2 H Z=HCDA) XA 106,055
= 74,239
= 6,363
Al 25,453
2T FoP|E2Y XE 3,517,000 3,156,000 361,000
& 2,462,000
Al 1,055,000
301 LetEEZ 3,517,000 3,156,000 361,000
& 2,462,000
Al 1,055,000
01 AIBIBE X432 (22X TE) 3,517,000 3,156,000 361,000
& 2,462,000
Al 1,055,000
S0j &t 3,517,000 3,156,000 361,000
& 2,462,000
Al 1,055,000
OZ2E sl K& 3,517,000
= 2,462,000
Al 1,055,000
OtsY X3 1,644,234 1,868,366 A224,132
= 1,150,964
& 147,981
Al 345,289
301 LdetE2NZ 1,644,234 1,868,366 AN224,132
= 1,150,964
= 147,981
Al 345,289
01 A BEAGS(ZRNEZME) 1,644,234 1,868,366 AP224,132
= 1,150,964
& 147,981
Al 345,289
20/ & 1,644,234 1,868,366 A224,132
= 1,150,964
& 147,981




2 AL
ot
==

s Of

SX
SXEX(AMEI=X/FHAHEXH)
=X MblA 23t (

o
B
£l
0

A 0j &y R 0 aroy

Ol
0¥

Al 345,289
,644,234
, 150,964
147,981
Al 345,289

0
o
o
1>
i
il
2

Mo

FHAEA2 2F 2t 100,000 80,000 20,000

307 gI2tol ™ 100,000 80,000 20,000

05 2IZIRE S 100,000 80,000 20,000
=0l & 100,000 80,000 20,000

O =A2 /AE=2Y 100,000

Olglol et = 1,550 1,550

1,550 1,550

|
01 AtR2teld] 1,550 1,550
=0l & 1,550 1,550

o OoO|o]| o

7 50043, 100 1,550

1t
10
il
2
0Q
=)
P
o
)
[0
=
R

,129,673 339,720 789,953
734,287
197,693
197,693

oW

=

wW
S
e
rc
HL
e
oy

,129,673 339,720 789,953
734,287
197,693
197,693

Mo

=

2
=
ton
[T
03
Bl
4
%
w
3]
Y
T
y
=
B

,129,673 339,720 789,953
734,287
197,693
197,693
,129,673 339,720 789,953
734,287
197,693
197,693
,129,673
734,287
197,693
197,693

Mo

=

i
=
z

o

=

®
11
0
1l
2
02
2
I
0
il
2

hoH

=

M2IERE d20ts 2sdl NJAS 12,000 0 12,000
8,400

720
2,880

SR

=

301 Let2dS 12,000 0 12,000
8,400
720

o




M MBI=TID
H: OlsS=2XSE(AMSIEX/FHAHSIH)
Cigl: OIE=X AbIA 23} (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
Al 2,880
01 Al BB (2DEXMH) 12,000 0 12,000
= 8,400
& 720
Al 2,880
S0 A 12,000 0 12,000
= 8,400
== 720
Al 2,830
ONEBIIERE M2B0tsESH]
1,000,000 122 12,000
= 8,400
& 720
Al 2,880
FAAHS Ols =i 3,286,817 2,989,047 297,770
= 906,532
= 670,090
Al 1,710,195
Ol= SstAdIA XIS (KAL) 25,000 25,000 0
201 LBt A 25,000 25,000 0
03 AL HH] 25,000 25,000 0
=20 A 25,000 25,000 0
Oots&eE & 25,000
Ols E&tABIA X 191,710 191,500 210
= 153,368
& 11,503
Al 26,839
201 LEL2AH| 96,810 96,400 410
= 77,448
== 5,809
Al 13,553
01 AF22telt] 21,000 18,600 2,400
= 16,800
o= 1,260
Al 2,940
=20 A 21,000 18,600 2,400
== 16,800
== 1,260
Al 2,940
OHIeH&H | 2,000
= 1,600
& 120
Al 280




2M: =X
mu: OIS=XISA(ASI=X/FHAHEN ) )
©°Helr HAH S Ols ==K (e
OH
LA G9I(B) - MISAY - BAS S SR HIDS2
OAREEH| 2,000
= 1,600
& 120
Al 280
OAIZ2t2IZAlH] 2,000
= 1,600
& 120
Al 280
OARA MZu=H| 3,000
= 2,400
= 180
Al 420
OOts=EXI 2 oA &Y 3,000
= 2,400
& 180
Al 420
O2Z2ds &
70,0003 10 *13] 700
= 560
= 42
Al 93
OdZIt & F#HUIO0IH 2ZAteE
375,000 *1H %43 1,500
= 1,200
& 0
Al 210
OUWE #AIHHI0IN AlgH| 2,400
= 1,920
= 144
Al 336
OSEAEE 24| 3,000
= 2,400
& 180
Al 420
OSEHLBAAE RXE2H] 1,400
= 1,120
& 84
Al 196
02 3323l 3,000 3,000 0
= 2,400
== 180
Al 420
201 & 3,000 3,000 0
= 2,400




2N At2l=XI3t
mu: OIS=XISA(ASI=X/FHAHEN )
el FHODIE Ol =X (cr9l: &g
SH - B S9(3H) - NRAY - BES S SR HIDS2
== 180
Al 420
O2223 & HAl 1,000
= 800
& 60
Al 140
OxteE= Al 2teldl 2,000
= 1,600
& 120
Al 280
03 A2 FH| 72,810 74,800 21,990
= 58,248
== 4,369
Al 10,193
20 & 72,810 74,800 21,990
= 58,248
& 4,369
Al 10,193
OJIENEZ s (OIs3IT) 8,000
= 6,400
& 480
Al 1,120
OIFMEZZ 4 (MEH, N8|, &
M) 26,000
= 20,800
& 1,560
Al 3,640
OQIXIZLEAEIA 33,010
== 26,408
& 1,981
Al 4,621
OHYEE 5,800
= 4,640
= 348
Al 812
202 O4H| 12,000 12,000 0
= 9,600
& 720
Al 1,680
01 =LH4b] 12,000 12,000 0
= 9,600
& 720
Al 1,680
=0 A 12,000 12,000 0




2N At2l=XI3t
. OIS=EXNSE(AIZSX/FLHSIH)
©°Helr HAH S Ols ==K (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 9,600
& 720
Al 1,680
Ous 4 Y CEHAEE H2FA 2,000
= 1,600
= 120
Al 280
OO0tsSEAtellZel Al 2L bI 10,000
= 8,000
& 600
Al 1,400
301 LetEEZ 77,600 77,600 0
= 62,080
& 4,656
Al 10,864
01 Al BE G S(2REZE) 68,000 68,000 0
= 54,400
& 4,080
Al 9,520
S0 &t 68,000 68,000 0
= 54,400
= 4,080
Al 9,520
OotsstsXd ¥ EMXIZ 66,000
= 52,800
& 3,960
Al 9,240
OfJI0ts S&AblA 2,000
= 1,600
& 120
Al 280
11 SHAAHIXIE S 9,600 9,600 0
= 7,680
= 576
Al 1,344
20 & 9,600 9,600 0
= 7,680
& 576
Al 1,344
OoMEgx=zd 8,000
= 6,400
& 480
Al 1,120




2l =Xt
[E= NS (MBI =R/ F S HETIR)
oHE Ot =X (el me
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
OR¥z & XEAE X3
8,000 x50 *43] 1,600
= 1,280
& 9%
Al 224
307 2IZt01A 5,300 5,500 A200
= 4,240
= 318
Al 742
01 222 RZH| 5,300 5,500 A200
= 4,240
= 318
Al 742
20l & 5,300 5,500 A200
= 4,240
& 318
Al 742
O ESES 50,0002 x30H 1,500
= 1,200
& 0
Al 210
OerB XA 50,0002 x40 2,000
= 1,600
= 120
Al 280
Oo0ts HZXI&A 100,000 *18Y 1,800
= 1,440
& 108
Al 252
XNE0tsHle 298| R 201,192 A1,760 AT40,568
= 100,596
& 50,298
Al 50,298
307 Q120 A 201,192 941,760 AT40,568
= 100,596
= 50,298
Al 50,298
10 AISI=SXAEEE2IHIE X 201,192 A1,760 AT740,568
= 100,596
== 50,298
Al 50,298
20 & 201,192 A1,760 AT740,568
= 100,596
& 50,298




M MBI=TID
. OIS=EXNSE(AIZSX/FLHSIH)
©°Helr HAH S Ols ==K (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 50,298
OJ|1=22%4| XA 187,392
= 93,696
& 46,848
Al 46,848
Oz=Jr2gdl X& 13,800
= 6,900
& 3,450
Al 3,450
X E0tsHlg lzid| I 929,664 929,664
= 464,832
& 232,416
Al 232,416
307 2IZ2t0|A 929,664 929,664
= 464,832
= 232,416
Al 232,416
10 AISISXAEEE2IHIE X 929,664 929,664
= 464,832
= 232,416
Al 232,416
20 & 929,664 929,664
= 464,832
& 232,416
Al 232,416
OX<E0otsHE o1A8l XI& 929,664
= 464,832
& 232,416
Al 232,416
NSotsHlE sHZIiadl K& 10,000 10,000
= 5,000
& 2,500
Al 2,500
402 QIZ2ERH=01H 10,000 10,000
= 5,000
& 2,500
Al 2,500
02 QIZENEAIE B X (01 &) 10,000 10,000
= 5,000
& 2,500
Al 2,500
=0 A 10,000 10,000
== 5,000




M MBI=TID
H: OlsS=2XSE(AMSIEX/FHAHSIH)
el FHODIE Ol =X (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 2,500
Al 2,500
OX<Y0otsHEH &8sl XA 10,000
= 5,000
& 2,500
Al 2,500
E4Y XNS0tSsHE =X 11,280 13,200 A 1,920
= 5,640
== 2,820
Al 2,820
307 21z2to|™ 11,280 13,200 21,920
= 5,640
& 2,820
Al 2,820
10 AISIZEXAEHAEASIGHIEXR 11,280 13,200 21,920
= 5,640
& 2,820
Al 2,820
=0 A 11,280 13,200 A 1,920
= 5,640
o= 2,820
Al 2,820
OEL=2dd 29 7,440
= 3,720
< 1,860
Al 1,860
OERY 24 3,840
= 1,920
& 360
Al 960
XNAO0IsHE FIt29d] K& 357,551 457,462 A99,911
& 89,510
Al 268,041
307 21Zto| ™ 297,551 439,062 A 141,511
& 59,510
Al 238,041
10 AISIZXAEHAEASIGHIEX 297,551 439,062 A 141,511
o= 59,510
Al 238,041
=20 A 297,551 439,062 A 141,511
& 59,510
Al 238,041
OolAd| =+ K& 250,055




M MBI=TID
H: OlsS=2XSE(AMSIEX/FHAHSIH)
o9l FHOHE 0l SSKI (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
= 50,011
Al 200,044
O2gH| =Jt1 X& 20,496
< 4,099
Al 16,397
OO0 K& 27,000
& 5,400
Al 21,600
402 OIZERFE0| A 60,000 18,400 41,600
& 30,000
Al 30,000
02 SIZIXIEAIHE (0| THL) 60,000 18,400 41,600
== 30,000
Al 30,000
=20 A 60,000 18,400 41,600
& 30,000
Al 30,000
OXNY9otsHdH JIs2d A& 60,000
& 30,000
Al 30,000
XNEOoIsSHE 29 2438 K& 213,816 123,495 90,321
201 LBt Ab| 8,480 8,480 0
01 AF22telb] 5,830 5,880 0
S0 A 5,880 5,880 0
OXE0tsHE 29|
30,0003 *123| x 1370 2 4,680
O284d XY90t=sHyH 29| 1,200
02 B34l 2,600 2,600
=0 A 2,600 2,600
OSEE NY0lsHH s5234| 2,600
307 2Iz2to|™ 203,936 113,615 90,321
10 AISIZXAEHEASIHIEX 203,936 113,615 90,321
=0 A 203,936 113,615 90,321
OFIISGHI(HHAIHI) X 203,936
405 KM SHI 1,400 1,400
01 AL = EF SH| 1,400 1,400
=0 A 1,400 1,400
O3gd XNA0tSHE HIS2L 1,400
ClethH=as4dlE o1l XI& 142,968 71,696 71,272
= 71,484
& 35,742
Al 35,742
307 2120l & 142,968 71,696 71,272
= 71,484




2N At2l=XI3t
mu: OIS=XISA(ASI=X/FHAHEN )
el FHODIE Ol =X (cr9l: &g
SH - B S9(3H) - NRAY - BES S SR HIDS2
== 35,742
Al 35,742
10 AISISXAEEE2IHIE R 142,968 71,696 71,272
= 71,484
= 35,742
Al 35,742
20 & 142,968 71,696 71,272
= 71,484
& 35,742
Al 35,742
OogelAd| X3 142,968
= 71,484
& 35,742
Al 35,742
CIEN=24dEe 2281 XI& 82,226 62,195 20,031
= 12,000
& 6,000
Al 64,226
307 QIZ2t0| A 82,226 62,195 20,031
= 12,000
& 6,000
Al 64,226
10 Al =S XA EEE2IHIEE 82,226 62,195 20,031
= 12,000
& 6,000
Al 64,226
S0j &t 82,226 62,195 20,031
= 12,000
& 6,000
Al 64,226
oagdl XA 24,000
= 12,000
& 6,000
Al 6,000
OFJt23dl XI& 58,226
NE==823 29 3,800 3,800 0
201 et2AY| 3,800 3,800 0
01 AtS2teltl 3,800 3,800 0
=0 A 3,800 3,800 0
OXg=882s9 &Y
70,0002 *10 »23] 1,400
Os22 H& 2,400
ZAAl0ts SAKIR 525,600 421,575 104,025




M MBI=TID
H: OlsS=2XSE(AMSIEX/FHAHSIH)
el FHODIE Ol =X (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
301 LBtE M= 525,600 421,575 104,025
02 MSIBEE LG 2(FISHE, XLHS) 525,600 0 525,600
=0 A 525,600 0 525,600
OZA0ts 4K 525,600
ots=4 X 234,100 217,365 16,735
& 154,120
Al 79,980
201 LEt2 A 1,100 1,100
01 AF22t2lt| 1,100 1,100
S0 A 1,100 1,100
Ool=322f113 29 1,100
301 LEIEN= 233,000 216,265 16,735
< 154,120
Al 78,830
02 AR EZE L6 Z2(FAHES, XILHE) 233,000 0 233,000
& 154,120
Al 78,830
=01l A 233,000 0 233,000
== 154,120
Al 78,830
ogsts g4 X 93,600
== 19,720
Al 78,830
O8|E Y Ots=4Al 12,800
& 12,800
Osh|s EZssY =24 K& 121,600
== 121,600
Ol=E2XIAIE X 3,800 3,800 0
301 LEENZ 3,800 3,800 0
01 Al B E B (2DEXMNH) 3,800 3,800 0
S0 A 3,800 3,800 0
OOIsSEXAE(OEE)RZ
300,000 *23| *2JH A~ 1,200
OO0I=EX AL (XYG0tSHH)A2
100, 000& *23| * 1300 &~ 2,600
ES0ls 08 25 29 A& 204,030 225,907 N21,877
= 81,612
< 61,209
Al 61,209
307 2I2to|™ 204,030 225,907 N21,877
= 81,612
& 61,209
Al 61,209
10 AISIZEXAIEHES2HHIEX 204,030 225,907 N21,877




2N At2l=XI3t
mu: OIS=XISA(ASI=X/FHAHEN )
el FHODIE Ol =X (cr9l: &g
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 81,612
& 61,209
Al 61,209
S0 &t 204,030 225,907 A21,877
= 81,612
= 61,209
Al 61,209
OLEs0ls 188 2529 X (oA
gl) 204,030
= 81,612
& 61,209
Al 61,209
O o2l 252 X3 49,000 53,000 24,000
== 9,800
Al 39,200
307 QIZ2t0I A 49,000 53,000 24,000
& 9,800
Al 39,200
10 AlRI=SXIAEBHE2IHIEX 49,000 53,000 24,000
& 9,800
Al 39,200
204 & 49,000 53,000 24,000
= 9,800
Al 39,200
OO8E olHdl B#=2 & 49,000
& 9,800
Al 39,200
Ot=&tth Hloliolts 23 16,760 19,580 A2,820
= 12,000
& 900
Al 3,860
201 LEr23d| 6,500 6,500 0
= 5,200
& 390
Al 910
01 AtR22teltl 6,500 6,500 0
= 5,200
& 390
Al 910
=0 A 6,500 6,500 0
== 5,200
& 390
Al 910
OOot=ssti K& st 6,500




2N At2l=XI3t
mu: OIS=XISA(ASI=X/FHAHEN )
o9l FHOHE 0l SSKI (el me
S - BB BR(31) - NSAY - BES S SR b=
= 5,200
= 390
Al 910
202 O4H| 2,760 5,580 A2,820
= 800
= 60
Al 1,900
01 2] 2,760 1,500 1,260
= 800
= 60
Al 1,900
20 & 2,760 1,500 1,260
= 800
& 60
Al 1,900
O0ts23 dYRAA =& 4|
20,0002 503 1,000
= 800
= 60
Al 140
O0tsEs MERIA & b
88,000& *2ZH +103] 1,760
301 Let8dZ 3,750 3,750 0
= 3,000
& 225
Al 525
01 AISIEEMHS2(ZNEXTE) 3,750 3,750 0
= 3,000
& 225
Al 525
=0 A 3,750 3,750 0
= 3,000
= 225
Al 525
Oo0rsstty XA 35 3,750
= 3,000
= 225
Al 525
307 2I2t01H 3,750 3,750 0
= 3,000
& 225
Al 525
01 222 P =H| 3,750 3,750 0
= 3,000




M MBI=TID
M OlsS=2XNSA (AR EX/FLHSKH)
el FHODIE Ol =X (cr9l: &g
SA - EH - CR(B) - NRAY - BaS S SR RS2
= 225
Al 525
=0 A 3,750 3,750 0
= 3,000
& 225
Al 525
O34t 0ts 2=l & =H| 3,750
= 3,000
& 225
Al 525
Ofsstiioyt & =2 HH e &5 K& 5,080 0 5,080
201 2Er23H| 3,000 0 3,000
01 At=222teltl 3,000 0 3,000
=0 & 3,000 0 3,000
O0ts2d n=dlEg 150,000 & 23] 300
OO0rSsHHoet 2l &= 2,700
202 04| 1,760 1,760
01 2| 1,760 1,760
20 & 1,760 1,760
O0rsstli gRF&H|
88,0002 x2H +103] 1,760
301 detENZ 320 320
11 HAIRHIX R 2 320 320
=0 A 320 320
OO0t=stii 2HQl &5 SAHA Ad|
8,000& *23|*20H 320
O, KHEAIE BAA SX= 66,360 59,520 6,840
= 13,272
Al 53,088
307 2I2t01A 66,360 59,520 6,840
= 13,272
Al 53,088
10 Al =SXAEBEE2IHIEX 66,360 59,520 6,840
& 13,272
Al 53,088
=0 A 66,360 59,520 6,840
= 13,272
Al 53,088
O0tS , MHEAIE SALA =X 66,360
& 13,272
Al 53,088
NEotsHEH RSAIS 12,880 12,892 N2
307 QIZ2t0| ™ 12,880 12,892 N2
11 AISISXIAIE 2 X 12,880 12,892 N2
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2AM:

Ar2l = X 2t

I FAE 25 Y SH(AMSEX/ 0 - HA
Ciell AW HAW R4 (crel:ae
SA - HB . SRI(31) - ISA - BA S S Hl D=2
Al 1,400
308 XSOl 2,800 2,800 0
J| 1,400
Al 1,400
11 SI2S0IHEHE AR L EALHI 2,800 2,800 0
J| 1,400
Al 1,400
20l & 2,800 2,800 0
J| 1,400
Al 1,400
OXS HAEENWARNG 29 2,800
J| 1,400
Al 1,400
S3EANLE FLERI/ARE 2% 6,000 6,000 0
J| 3,000
Al 3,000
308 AtXIEHHSO0IN 6,000 6,000 0
J| 3,000
Al 3,000
11 SI2SOICHEHE AR L EALZHI 6,000 6,000 0
J| 3,000
Al 3,000
20i & 6,000 6,000 0
J| 3,000
Al 3,000
O33EL2UANE 3ALEHRIRRE 228 6,000
J| 3,000
Al 3,000
Had Sokel X& 6,250 6,250 0
= 2,500
= 750
Al 3,000
308 AHXISHMSO0IN 6,250 6,250 0
= 2,500
& 750
Al 3,000
11 SI2SHCHEHE AR L E AL 6,250 6,250 0
= 2,500
& 750
Al 3,000
204 & 6,250 6,250 0
= 2,500
& 750




M MSI=TID
M FAE B85 2 SH(AMSISK/L0 - HAH)
o AN HEAE =4 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 3,000
O&EAE =0t2l XN& 6,250
= 2,500
& 750
Al 3,000
HAYE YRF0HHI0 2 305, 149 174,512 130,637
| 93,251
& 46,626
Al 165,272
308 AtXIEHHISO0IA 305, 149 174,512 130,637
J| 93,251
& 46,626
Al 165,272
11 I 2SO CHSHE AN AEAIS ] 305, 149 174,512 130,637
J| 93,251
& 46,626
Al 165,272
S0 &t 305, 149 174,512 130,637
J| 93,251
= 46,626
Al 165,272
OFAad gt OIHHI0 &g2el 186,503
J| 93,251
& 46,626
Al 46,626
OFAE gutZ 0tdI0l 2Z 22l (XHAl) 118,646
HrE BS U HEES 4,387 4,009 378
201 LEt23d| 3,387 3,009 378
01 AtS2teltl 3,387 3,009 378
S0j &t 3,387 3,009 378
OFHAEHES EE2 ME
1,000 *1,0000H 1,000
OFLEZE Y203 ME L s
6,700 *2100H 1,407
OFLESXMKASG E&Y
70,0003 x7 H 23] 980
301 Let8dZ 1,000 1,000
14 J|Et2 &3 1,000 1,000
201 & 1,000 1,000
OFAHE Roligrd MNEAF 1,000
FAEMESIHE 29 2l 173,727 178,829 25,102
308 AHXIEHHISOIA 165,727 178,829 213,102
11 S| 2S00 CHsHE & X2 E ALY 165,727 178,829 A13,102
S0 &t 165,727 178,829 213,102




A ARISX

Mz HAaE B L KH(AMISX/=00 - HAH)
Chel: AW HAE 24 LR
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
OPQIAH| (A E) 52,561
OolZd|(2d 5) 73,127
O2gH| 40,039
401 A2 200 8,000 0 8,000
01 Al&BI 8,000 0 8,000
S0 A 8,000 0 8,000
OFAEAMEHE A8 B4 8,000
HAEOKNMGY A= 105,622 104,170 1,452
J| 52,811
Al 52,811
308 XXISHHSOIA 105,622 104,170 1,452
J| 52,811
Al 52,811
11 2|2 SHUSE AN AE AL HI 105,622 104,170 1,452
J| 52,811
Al 52,811
=0 A 105,622 104,170 1,452
J| 52,811
Al 52,811
OFAdotNa = 105,622
J| 52,811
Al 52,811
HAUE SHHI 22 2H 33,584 33,084 500
J| 16,792
Al 16,792
308 KXISHHSOIA 33,584 33,084 500
J| 16,792
Al 16,792
11 2|2 SH U EAEAE AL HI 33,584 33,084 500
J| 16,792
Al 16,792
S0 A 33,584 33,084 500
J| 16,792
Al 16,792
OFAUE St T2 29 33,584
J| 16,792
Al 16,792
st g HAalE X3 92,077 91,019 1,058
J| 64,455
Al 27,622
308 AXISHHISOIA 92,077 91,019 1,058
J| 64,455
Al 27,622
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A ARISX

Hu: HAW 25 Y SH(MESK/0 - HAH)
Chel: AW HAE 24 LR
SH - B S9(3H) - NRAY - BES S SR HIDS2
| | Al 12,400
ol 242 XA (KHA) 249,600 228,960 20,640
301 LetEEZ 249,600 228,960 20,640
02 MBI BE>H2(FLHS, RSHA) 249,600 228,960 20,640
204 & 249,600 228,960 20,640
O0daAE & OXEIIENAE 2249
MEZ A 13,000&*1,600H x 12& 249,600
St g HAYE I 28 ==X 10,200 0 10,200
== 4,080
Al 6,120
308 AXIEHHI SOl 10,200 0 10,200
& 4,080
Al 6,120
11 I 2SO0 CHSHE A X AEAIS ] 10,200 0 10,200
= 4,080
Al 6,120
204 & 10,200 0 10,200
= 4,080
Al 6,120
Osta 8 44 DY BEE =Y
A& 10,200
= 4,080
Al 6,120
HH2AAUI(AISISXID) (JIEHDIEL) 713,409 911,660 A198,251
= 279,004
& 78,008
Al 356,307
ol 2| 680,097 877,568 A197,471
= 279,004
& 78,098
Al 322,995
QIHZIHI(EHAEIE) 185,750 178,220 7,530
= 9%,320
& 7,224
Al 82,206
101 Q12| 185,750 178,220 7,530
= %,320
= 7,224
Al 82,206
03 SRA(RIAHL) 22 XNES 185,750 178,220 7,530
= %,320
& 7,224
Al 82,206




M MSI=TID
M. HYE2AZUI(AIZISXI) (O1EHDIE
o©el: el 2HH| (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
20l & 185,750 178,220 7,530
= 9%,320
& 7,224
Al 82,206
OEGAEIE Ot=SEAtdlZel AL 21
HI(SHEARA) 120,400
SRl 100,097
= 80,078
& 6,006
Al 14,013
o AZ2t2E 13,903
= 11,122
& 834
Al 1,947
SISESESISES, 6,400
= 5,120
= 384
Al 896
OEEAEE OtsSeAtdlZel At 21
Bl AIBIEIIZ (S EARA) 65,350
odzg 6,400
cHItRESRFII=E
2,000,000 x4 *13] 8,000
oSSR Y 50,0002 x4 +123] 2,400
oAM= 150,000 *4Z *123] 7,200
ofgsg 90,0002 x4 *123] 4,320
o HAZAH| 140,0002 *4H x123] 6,720
o JHHIE &I 80,0003 *4H *123] 3,840
oXRL 110,0002 x4 H x123] 5,280
oItEg 2,640
o ZAEF I 10,010
SISESESIS IS, 6,400
o AIZte|=Y 700
oASISXYEReY 30,0002 x4+ 123 1,440
QI 2HY| (NS OLSHE OtS=SXIWAL 371,588 364,018 7,570
= 134,524
& 67,262
Al 169,802
101 QI24H| 371,588 364,018 7,570
= 134,524
= 67,262
Al 169,802
03 SR (RIAHL) 22 NES 371,588 364,018 7,570
= 134,524
= 67,262




M MSI=TID
M. HYE2AZUI(AIZISXI) (O1EHDIE
o©el: el 2HH| (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 169,802
=0 A 371,588 364,018 7,570
= 134,524
& 67,262
Al 169,802
OO0ts=XI 1At 2124H| 269,048
oJlg= 224,048
= 112,024
& 56,012
Al 56,012
oENANEZ 45,000
= 22,500
== 11,250
Al 11,250
OO0tSE X AF 12481 (KFAI) 102,540
o ZMZ A 140,000& 12 = 12& 20,160
oA sY 93,7503 *12Y + 12& 13,500
oIS 93,7503 x12% 122 13,500
oA 68,7503 *12% *12& 9,900
oItEg 120,000 12 123 17,280
o FAEF I 750,000& x 12 #23] 18,000
odzg 200,000 x12H »23] 4,800
cHItRESFII=E 450,000 *12H 5,400
OIHRAYI(0ISES ALY 2% X&) 122,759 4,955 27,804
= 48,160
= 3,612
Al 70,987
101 21244| 122,759 94,955 27,804
= 48,160
= 3,612
Al 70,987
03 BRH(RINAHY) 2224+ 122,759 A,955 27,804
= 48,160
= 3,612
Al 70,987
=0 & 122,759 94,955 27,804
= 48,160
& 3,612
Al 70,987
O0lsEs dEed 29 60,200
=JlEa 50,400
= 40,320
& 3,024




M MSI=TID
Mz Y SHAAY|(AISISXIDH) (DIEHDIE
ciel: olte ) (el me
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
Al 7,056
oE|AZ HNEZ2 6,500
= 5,200
< 390
Al 910
o A2t 9 % 3,300
= 2,640
< 198
Al 462
OotsEs MY 2H(XHA) 62,559
o HHZAH| 140,0002 2 x 1204 & 3,360
ofeieH 150,000& 2 x 1200 & 3,600
cIJIExH 120,000 2 x 1200 & 2,880
oX2CH 110,000 2%+ 124 & 2,640
oYL 90,000 x2H 120 & 2,160
o JHHIE | 80,0003 x2H*12J1 & 1,920
oELAIELH 50,000 x2Z 121 & 1,200
oASIEXLRE
30,000 x2H 120 & 720
ocHIIRSHEIITE
130,000 »2H x 15 3,900
ol AL 4,800
oHAEFIIH| 1,400,000 x22H *x23| 5,600
oAlZ2t 2 =& 1,350,000 x2H 2,700
o ElAZN 27,079,000 *x1H 27,079
J|l2&t| 33,312 34,092 A780
J|l2& | 33,312 34,092 AT780
201 LB AH| 27,672 26,712 960
01 AtR2teldl 22,872 21,912 960
=0 A 22,872 21,912 960
OFMEY Jl2d| 256,000« 12& 3,072
OZ2A| Xtz 220,000« 12& 2,640
OAMEZE RA(ZAHK S)
200,000« 128 2,400
OQHEHAIRI|D| APE P2
300, 000& *7CH*23] 4,200
OZ&| 8, 000 x22H 52« 12& 10,560
02 B232g| 4,800 4,800
S0 A 4,800 4,800
Osmaz 400,000 122 4,800
202 Odd| 1,440 1,680 A240
01 2yl 1,440 1,680 240
S0 A 1,440 1,680 A240
OHlAZF 2] 20,0002 x24H 33| 1,440
203 YR =&IH| 4,200 5,700 A 1,500




2N At2l=XI3t
M. HYE2AZUI(AIZISXI) (O1EHDIE
cigl: |22 (erel: &)
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
M 2A2IHRFE 4,200 5,700 21,500
=0 A 4,200 5,700 21,500

ORNSY Y2FTY| 350,000« 1284 4,200




